
K.C.P.E SIXTH TRIAL
STANDARD EIGHT 2013

MATHEMATICS

Time: 2 hours

READ THESE INSTRUCTIONS CAREFULLY
1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
2. Do any necessary rough work in this booklet.
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklet.
HOW TO USE THE ANSWER SHEET
4. Use only an ordinary pencil.
5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER YOUR NAME
NAME OF YOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.
7. Do not make any marks outside the boxes.
8. Keep your answer sheet as clean as possible and DO NOT FOLD IT.
9. For each of the questions 1 - 50, four answers are given. The answers are lettered A, 13, C and D. In each case only ONE of the four answers is correct. Choose the correct answer.
10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter you have chosen is written.
Example:
In the Question Booklet:
14. The height of an isosceles triangle is 4cm. Each of the two equal sides measure 5cm. What is the area of the triangle?
A. 6cm2
B. 12cm2
C. 15cm2
D. 24cm2

The correct answer is B (12cm2)
On the answer sheet
4. A|| B||C||D|   14.  A|| B||C||D|   24.  A|| B||C||D|   34. A|| B||C||D|
In the fourth set, the box with the letter B printed in it is marked.
11. Your dark line MUST BE within the box.
12. For each question ONLY ONE box is to be marked in each set of four boxes.
This question paper consists of 7 printed pages

[image: image7.png]30em




1. Write in symbols.
Eight million, six hundred and eighty thousand, six hundred and six and sixteen thousandth.
A. 8680606.16
B. 8680606.016
C. 8068606.016
D. 8686006.016
2. What percentage of the rectangle below is shaded?
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A. 9x+6y
7. A wholesaler bought a radio for sh. 480 and made a 25% profit when he sold it to a retailer. The retailer made a loss of 5% after sell ing it to Ali. How much did Ali pay for the radio?
A. Sh. 570
B. Sh. 600
C. Sh,120
D. Sh. 670
8. Workout:
{ 4.5 x 0.75 x 0.36 ' ~
0 81x0.5
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11. The figure below shows a match box open on both ends. Find the total surface area of the match box.

A lorry was loaded with 4 tonnes of cooking fat which was packed in 250g, 500g, 1 kg and 2kg tins. The number of 500g tins were 400, 2kg tins were 500 and lkg tins were 700. 1 low many 250g tins were there?
A. 84000;>
B. 84,0
C. 7200 ~
D. 8400
Simplify the expression. ='(9x + \2y) + ~{\2x-8y)

9. 9x-6y

10. 9x+\0y
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The table below shows the distance between town A and F in kilometres.
A
	100
	B
	
	
	

	150
	50
	C
	
	

	240
	140
	90
	D
	

	300
	
	150
	60
	E

	400
	300
	250
	160
	100


Find the amount of petrol a vehicle will consume between town B and E, if a vehicle consumes 8 litres of petrol per kilometre.
A. 18601itres B. 15801itres C. 16801itres D. 16001itres
Find the area of the floor not covered by the carpet which is laid on the floor leaving a 2m margin all round.
(5x+5)m
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16. Naliaka’s salary was increased by 40% while she reduced her expenditures by
10%. If the salary before the increment was sh. 12 000 and her expenditures were sh. 4 000, how much more did she save than she used to save?
A. Sh. 8 000 B. Sh. 13 200
C. Sh. 5 200 D. Sh. 5 600
17. Find the perimeter of the shaded area, if the circumference of the large circle is 44cm.
B. 22cm
D. 44cm
18. The cross-sectional area of a circular end of a pipe is 14ycm
. Water flows out of the pipe at the rate of 1.05m/s. How many litres of water will be discharged in 4 minutes?
A. 356.41itres B. 148.51itres C. 35.641itres D. 0.35641itres
If x=y+l, y=3 and z=y-l Find the value of
x2(2y-3)

B. 643cm2 D. 874cm2
A. 690cm2 C. 797cm2
A. 1020m2
B. 930m2
C. 290m2
D. 252m2
In a school, the ratio of boys to girls is 7:4 while that of the teacher to girls is 2:5 respectively. If there are 24 teachers in the school, find the number of pupils in , the school?
A. 165
B. 105
C. 189
D. 180
The length of a square plot is equal to the diameter of a pond whose circumference is 176m. Find the perimeter of the square.
A. 204m
B. 224m
C. 112m
D. 784m

21. Zainab sold a dress for sh. 2400 thereby making a loss of 20%. How much should she have sold it to gain 40%?
A. Sh. 4200 B. Sh. 1800 C. Sh. 5200 D. Sh. 6400
22. Construct triangle PQR in which PQ=PR=8cm and zRPQ=120°. Drop a perpendicular from point P to cut QR at S. Measure ,/ SPR.
A. 60°
B. 68°
C. 70° ' \ I). 120°
23. Find the size of the largest angle in the figure below.
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A. 135°
B. 115°
2 4 „ Joyce bought the following items from Mama Watoto supermarket.
3 - 2 kg tin cooking fat @sh. 130 2-Vzl packets of milk @sh.80 per litre 3kg rice for sh. 200 I packet spaghetti (a)ysh.50 2-500g bar of soap @sh.75.
If she paid using a thousand shillings note, how many 5 shillings coins did she receive if that was the only denomination available in the coin box?
A. 48
B. 45
C. 225
D. 26
26. A man made a journey of432km. For the first t of the journey, he averaged 108km/h, after which he stopped for 1 hour to take lunch. For the rest of the journey, he travelled at 120km/h. How long did he take to reach his destination?
A. 4‘/2hr
B. 3 hr 44min
C. 4hr45min
D. 4hr44min
27. Find the volume of the piece of wood shown below.
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A. 1292cm’
B. 3504cm3
C. 7200cm3
D. 3540cm3
28. The pie chart below shows how Bakita spends her monthly salary. If she spends sh. 2 400 more on electricity than clothing, how' much does she spend on food'?
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29. The cash price of a sofa set is sh. 20 000. Janet bought it on hire purchase. The amount she paid was 20% more than the cash price. If she paid a deposit of
sh. 8 000 and 8 equal monthly instalments, how much was each instalment?
A. Sh. 2 (!()0
B. Sh. 1 600
C. Sh. 2 400
D. Sh. 3 200
30. Oduma deposited some money in a bank which paid interest at the rate of 16% per annum, At the end of 9 months, he withdrew o'! the interest amounting to sh. 1 800. How much had he deposited?
A. Sh. 16 800
B. Sh. 25 000
C. Sh. 15 700 I).
Sh. 15 000
3 1. The table 'clow shows part of postage charges lor .sending telegrams.
	No. of words j \ mount in
1 Sh.
	Commission Rate

	10 or less [ 10
	1.20

	11 ! > 2
	1.80

	i
	2.00

	13 . ; ■
	2.50

	14 1 /
	3.00

	15
	3.50

	i6 . ; . 3
	4.00 .

	17
	5.50

	18
	6.00

	19
	6.50

	r " "" “ 1 20
	7.00


Thukii s-. j fbikiwing telegram to
Saipei.
STFLL,
iPEl oQOD NEWS TO
THLLS
) NO -V AND LORD IS ■
COMII*
,)ON i HUKU BONOKO NGUfC
1 iovv nn
:mmii i.:ion was he charged
to send:
-.'legram?
A. Sh. .
■) B. Sh. 27.00
C. Sh. :
■). D. Sh. 25.00
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28cm
28cm
A. 784cm2
B. 2464cm2
C. 1680cm2
D. 392cm2
33. Job’s vehicle has a wheel whose radius is 28cm. If he reversed his car and the wheel rotated 2000 times, what distance in kilometres did the wheel cover?
A. 35.2km
B. 0.352km
C. 3.52km
D. 1.76km
34. A sales agent earns a basic salary of sh. 8 000 and a commission of 12% of sales above sh. 20 000. In one month, he earned a total of sh. 12 800. Find the value of the sales.
A. Sh. 40 000
B. Sh. 80 000
C. Sh. 60 000
D. Sh. 48 000
What is the sum of the vertices, edges and the faces of the figure formed by the net below?

35. Draw a line BC=4cm. At C mark angle BCA=3-0° and AB=3.6cm. Measure the length of line AC.
A. 6.5cm
B. 5.5cm
C. 7.5cm
D. 4.6cm
36. Four girls Angela, Rose, Paula and Simson went to the market to buy oranges. Angela bought three more oranges than Rose who bought five oranges less than Paula. Rose bought twice as many oranges as Simson. How many oranges did they buy altogether if Rose bought x oranges?
A. 3 '/2X-18
B. 3x+5
C. 3 Vzxr+S
D. 5x+8
37. The table below shows the amount of litres of milk delivered to a school by a farmer.
	Week
days
	MON
	TUE
	WED
	THU
	FRI
	SAT
	SUN

	Amount in Litres
	80
	60
	110
	70
	65
	77
	102


Which two consecutive days was the delivery of milk the least?
A. FRI, SAT
B. THUR, FRI
C. WED, THUR
D. SAT, SUN
38. Find the next number in the pattern.
I 1, 11, 23, 37, 53, 

A. 71
B. 57
C. 73
D. 61

39. Tap A takes 4mins to fill a tank while Tap B takes 6 minutes to empty the same tank. If the two taps are opened at the same time, how long will the tank take to get filled?
A. 24min
B. lOmin
C. 18min
D. 12min

40. A rectangular plot measures (2x+3)m by (!/2X+l)m. If the perimeter of the plot is 113m, find the length of the shorter side. . A. 21m
B. 45m
C. 12.5m
D. 11.5m
41. The weight of a jerrican % full of water is 9.5kg. The weight of the empty jerrican is 2kg. What is the weight of water only when the jerrican is half full?
A. 6kg
B. 10kg
C. 5kg
D. 5.5kg
42. On a map, a square area of 64cm2 is represented by 144km2 on the ground. What distance on the ground will a line 15cm long on the map represent?
A. 22.5km
B. 22km
C. 45km
D. 18km
43. The mean of 8 numbers is 5.2. Seven of the numbers are 2, 4, 5, 5, 6, 2, 11. Find the median of the eight numbers.
A. 5
B. 6
C. 7.6
D. 5.5

44. A motorist drove for 3'/2hrs at 72km/hr and then increased his speed to 80km/h. At the new speed, he drove for 2'/2hrs. Find his average speed for the whole journey.
A. 75km/hr
B. 75 j km/h
C. 70km/hr
D. 751 km/h
45. A man spends of his salary on food, a
o
quarter of it on rent and T of the remainder on water bill. He saves sh. 720. Find his salary.
A. Sh. 2 400
B. Sh. 3 600
C. Sh. 1 800
Sh. 4 200

46. Decrease sh. 480 by 3:5.
A. Sh. 800
B. Sh. 288
C. Sh. 388
D. Sh. 320
47. Find the value ofl 7.2 -(6 — 2.2)
A. 21.1
B. 13.4
C. 10.1
D. 12.4

48. A tank is i-full of water, when 300 litres
4
are drawn out of the tank, it becomes | full. Find the capacity of the tank.
A. 1200/.
B. 640/
C. 800/
D. 1400/


49. The graph below shows motorist’s journey at different sections.
t - !
• | . 
f.

120 ’
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rtnr
'■:i i. Between which two po'iltts!was his'speed the: highest?
A. BC
B. AB
' C. CD

7 correct to 2 decimal
3.857
3.86
37.5%


62.5%


40%





Solve: V()^4-^J_X20





B.


D.





A 0,3 €. 3’





9


30





0.2


800





B.


D.





10.





Noel slept at 8.45 p.m and woke up the following morning at 6.40 a.m. I low many hours had he been sleeping?


15hrs25mins


9hrs50mins


9hrs55mins


8hrs 55mins





A. 80 C. 400





In a competition, 20 points were awarded for each game w and 12 points deducted for each ,:ime lost, A pupil attempted 22 games and was awarded 248 points. How many games did he win?


14


6


13


16





Workout: 27 places.


A. 38.57 C. 3.85





B.


D.





A. 36cm C. 54cm





19.





B. 3 D. 16





A. 64 C. 12





20. Find the area of the figure below.





9cm





Sh. 43 200


Sh. 10 600


Sh. 8 400


Sh. 9 600





1U


14


12


16





32. Find the area of the shaded region in the figure below.





140!





D. BE








�	5, A man was employed for 20 days at


sh. 240 per day and was paid sh. 40 for every extra hour he worked. At the end of the twenty days, he was paid sh.6 000. I low many extra hours did he work’?


30	B. 40


36	D. 15






